Wkst 2.2: I. R. E. Analysis

1- 2ALS3g + 90y & 2AL03g + 630z
Initial 26 M 20. M 16 M 18 M
Reaction
Equilibrium 14 M

K352°C=
2- 4BH3g + Pa(g) & 6 Ha) + 4BPg
Initial 14 M 22 M aM 17M
Reaction

Equilibrium 10. M

K450K=
3- 2CsHig + 150z @ 10COzxq + 10 H20q
Initial 3.60M 150 M 6.50 M X
Reaction X
Equilibrium 3.15M X

K290K=



4-
Initial
Reaction

Equilibrium

5-
Initial
Reaction

Equilibrium

6_
Initial
Reaction

Equilibrium

SiF4(g)

6.0 M

4 Ru*3aq)

0.44 M

0.11M

6 NO)

550 M

+ O &
15.0M
K=7
+ 3 Mn*aq &
0.78M
K=7?
+ 2Asg + HOq
7.00M 4.00 M

50M

& 3 NZO(Q)

1.50 M

0.54 M

+

2 HAsOx)

6.00 M




1— SiHigg + 202 & Si0xg + 2H20)

Initial 21 M 16 M 26 M
Reaction
Equilibrium

Kssk= 0.250

Determine [SiHaJe, [O2)e, [H20]e, [SiO2]e



